

Government of Jammu & Kashmir (UT)

OFFICE OF THE CONSERVATOR OF FORESTS JAMMU WEST CIRCLE, RAJOURI

Sub: Work Programme of Compensatory Afforestation with Forest Clearance for "(Diversion of forest land for construction of Road from Patrari-Dandesar Bala)" in Nowshera Forest Division.

Ref:

DFO Nowshera letter No. DFO/NSR/1432-33 Dated. 30-09-2022.

ORDER

The revised work proposal for Compensatory Afforestation to be done in lieu of diversion of 0.5812 Hectare of forest land in Nowshera Forest Division for Construction of road from Patrari-Dandesar Bala under (PWD) to the tune of Rs. 6,19,450/- prepared and submitted by the Divisional Forest Officer, Nowshera Forest Division, is hereby Approved/Sanctioned, as per the details given below:-

Proposal No.	Nomenclature of FCA Work	User Agency	Location of proposed works	Area involved for diversion	Area under CA Plan	Financial implication of the proposal	Canopy Density
FP/JK/Road /155208/2022	Construction of Patrari-Dandesar Bala road	(PWD) Nowshera	160/N (Patrari)	0.5812 Ha	1.50 Ha	6,19,450/-	<30%

The revised Approval/Sanction is subject to the following conditions:-

1. All the terms and conditions as per the provisions of Forest Conservation Act 1980 w.r.t Compensatory Afforestation are complied with

2. That the existing Forest Tariff Rate schedule shall be applicable.

3. That the DFO Nowshera Division shall be the implementing agency for executing the CA Plan.

(Vivek Verma), IFS Conservator of Forests, Jammu West Circle, Rajouri

No: CFW-R/FCA/2018-21 Dated: 66-10-2022

Copy Submitted:-

1. Prl. Chief Conservator of Forest (HOFF) J&K Jammu for favour of information.

2. The Addl. Pr. Chief Conservator of Forest, Nodal Officer (FCA) J&K U.T for Information.

The Addl. Pr. Chief Conservator of Forest Jammu for favour of information.
 The Divisional Forest Officer Nowshera for information and fallow up action.

Compensatory Afforestation Scheme

Full Title of the Project :- Construction of Road from Patrari to

Dandesar Bala by PWD Division Nowshera

Proposal No. :- FP/JK/Road/155208/2022

Date of Proposal :- 09-05-2022

Name of the Forest Division :- Nowshera Forest Division

Forest area to be diverted :- 0.5812 Ha.

Forest area to be planted :- 1.50 Ha.

No. of trees/poles/saplings to be felled :- 110

No. of plants to be planted in the scheme :- 1400

Existing Vegetation :- Dalbergia sissoo, Acacia catechu, Emblica

officinalis, Pinus roxburghii, Acacia nilotica

Species to be planted :- Acacia modesta Dalbergia sissoo, Acacia

catechu, Emblica officinalis, Pinus

roxburghii, Melia azedarach, Acacia nilotica

Details of land where C.A. is to be carried out

Degraded forest land: Yes Area : 1.50 Ha.

Forest Division : Nowshera Forest Division District : Rajouri

Range : Lamberi Tehsil : Nowshera

Location of C.A. Site: Patrari Block: Rajal

Location/Site for Compensatory Afforestation:

Range	Block	Compartment	Geo Coordinates	Area(Ha.)
Lamberi	Rajal	160/N	N 33º 09' 23. 71"	1.50
			E 74° 18' 23. 68"	

Description of C.A. Site:

a. Soil type: Mountainous Soil

b. Topography: Undulating

c. Slope: Medium (10% to 15%)

d. In case of degraded forest land-description of forest type and crown density:

Himalayan Sub-tropical Scrub forest and Broad leave forest & density is <30%.

Compensatory Afforestation for 1.50 Ha Degraded Forest in Nowshera Forest Division

S.No	Description	Nos.	Rates (in Rs.)	Total Amount (in	
Α.	Plantation	1100.	Ruces (III Rs.)	Rs.)	
1	Ist Year Cost of Afforestation	800	29.34	23472	
2	2nd year maintenance(BUC)	200	29.34	5868	
3	3rd year maintenance(BUC)	120	29.34	3521	
4	4th year maintenance(BUC)	40	29.34	1174	
5	5th year maintenance(BUC)	40	29.34	1174	
6	6th year maintenance(BUC)	40	29.34	1174	
7	7th year maintenance(BUC)	40	29.34	1174	
8	8th year maintenance(BUC)	40	29.34	1174	
9	9th year maintenance(BUC)	40	29.34	1174	
10	10th year maintenance(BUC)	40	29.34	1174	
	Total	1400	29.34	41079	
	Nursery Raising	1400	8.03	11242	
	Nursery Maintenance	1400	2.66	3724	
	Grand Total			56045/-	

B. Fencing:

. Chain Link Fencing

Range	nge Location Gps		Physical (Rft)	Rate/Rft	Total amount (Rs.)
		Coordinates		(Rs.)	
Lamberi	160/N	N 33º 09' 23. 71" E 74º 18' 23.68"	1600	224.675	359480
	Total	359480/-			

C. Soil & Water Conservation and Protection Measures like Construction of Fire lines & Inspection Path:

(i) Inspection Path

	Location	Range	Physical	Rate/unit	Total amount
			(mtrs)		(Rs.)
Inspection	160/N	Lamberi	L=500m	45221/km	22,611
Path			B=1.5m		
Total					22,611/-

(ii) Soil and Water Conservation

G. 10tur			=1,47,611/-		
G. Total		D (i)+(ii)			22,611+1,25,000
Total					1,25,000
160/N	Rajal	Lamberi	Pond: 01 Nos	L.S. (as per estimate)	1,25,000
Location	Block	Range	Physical	Rate/Unit	Total amount (Rs.)

Total C.A. charges in Rs. (A+B+C+D)=56045+359480+147611=563136/-

D. Supervisory/ Watch & Ward / Overhead/Miscellaneous charges:

@ 10% of the C.A Charges = Rs.56314/-

Total: A+B+C+D+E= 56045+359480+147611+56314= Rs.6,19,450/In Words (Rupees Six Lacs Nineteen Thousand Four Hundred and Fifty Only)

Divisional Forest Officer Nowshera Forest Division Nowshera